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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–I • EXAMINATION – SUMMER • 2014 

Subject Code: 310029 Date: 05-07-2014        

Subject Name: Engineering Drawing 

Time: 02:30 pm - 05:30 pm Total Marks: 70 
Instructions: 

1. Attempt any five questions.  

2. Make suitable assumptions whrever necessary. 

3. Figures to the right indicate full marks.  

4. English version is considered to be Authentic. 

 

Q.1 (a)   Draw following views in orthographic projection of given pictorial view in 

fig. 1, using 1
st
 angle Projection method with aligned system of dimensioning. 

i. Front view from X-Direction  and   ii.Top view    iii.  R.H.S. view. 

 Figure 1. 

14 

    

    
Q.2 (a) Draw an Isometric drawing of the given fig. 2.  

 Figure 2. 

08 

 (b) Enlist the engineering drawing Instruments and state their uses. 

 
06 

  OR  

 (b) Write  the untrimmed size of different drawing sheets. 06 

    
Q.3 (a) Draw an Ellipse having distance between two foci  F1 & F2 is 90 mm. and  

major axis is 120 mm. Draw half ellipse by arc of circle method and other half 

by Concentric Circle method. 

06 
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 (b) (i) Construct a regular Pentagon having a side of 40 mm using three circle 

special method. 

(ii) List the different type of lines and state their uses. 

04 

  OR 04 

Q.3 (a) Draw an Archemedian Spiral of maximum radius 70 mm and minimum radius 

of  10 mm for 450 ° revolution. 
06 

 (b) (i) Construct a regular Heptagon having a side of 30 mm using Universal 

Method. 

(ii) Differentiate between Aligned and Universal system of dimensioning.   04  

04 

    
Q.4 (a) Draw an Epicycloid of one revolution for the valve of Bicycle wheel radius 40 

mm rolling over a curve bridge of 100 mm radius. Assume that the valve is on 

the top position.  

06 

 (b) (i) Construct an Isometric scale.  

(ii) Draw a circle passing through three points R,S & T which are not in a    04 

straight line. 

04 

  OR  

Q. 4 (a) Draw an Involute for a semi circle of 40 mm diameter.  06 

 (b) (i) Two lines OA and OB are at 90 °. A point P is 20 mm and 40 mm away 

from OA and OB respectively. Draw a rectangular Parabola through point 

“P”. 

(ii) Differentiate between first angle and third angle projection method.  

04 

    
Q.5 (a) A line PQ is 80 mm long is inclined at 30 ° to H.P. and 45 ° to V.P. The end P 

is 20 mm behind V.P. and 10 mm below H.P. Draw the projection of line PQ 

and find the apparent angles and length of plan and elevation. 

06 

 (b) Draw the projection of Hexagonal plane of 30 mm side has a corner in the 

H.P. Its surface makes an angle of  60 ° to H.P. and view of Diagonal passing 

through a corner on which it rests which makes an angle of 45 ° to V.P.  

08 

  OR  

Q.5 (a)  A line CD 90 mm long measures 65 mm in front view. The front view makes 

an angle of 45 ° with XY. The point C is in V.P. and 25 mm below H.P. The 

point D is in third quadrant. Draw the projection of line CD and find the true 

inclination with H.P. and V.P.  

06 

 (b) A circle of 60 mm diameter has its one diagonal AB inclined at 60 ° to H.P. 

and the other diagonal CD which is perpendicular to AB is inclined at 45 ° to 

V.P. Draw the projection of circle. 

08 
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ગજુરાતી 
પ્રશ્ન. ૧  આ઩ેરા સચિત્ર દેખાલ ૧- ના પ્રથભ કોચિમ ઩દ્ધતિથી નીિેના દેખાલો દોયી 

એરાઇંડ યીિથી ભા઩ આ઩ો. 

 Figure 1. 
(૧) સાભેનો દેખાલ X-દદળાભા (૨) ઉ઩યનો દેખાલ  (૩)  જભિી ફાજુનો દેખાલ. 

૧૪ 

    
પ્રશ્ન. ૨ અ આ઩ેર દેખાલ-૨ ઩યથી આઇસોભેટ્રીક દેખાલ દોયો 

 Figure 2. 

૦૮ 

 બ એન્જી. ડ્રોઇંગ ના સાધનો નુું રીસ્ટ ફનાલી િેના ઉ઩મોગો જિાલો. ૦૬ 

  અથવા  

 બ કાપ્મા લગય ના જુદા જુદા ડ્રોઇંગ ઩ે઩ય ની સાઇઝો રખો.  ૦૬ 

    
પ્રશ્ન. ૩ અ ફે પોસાઇ F1 અને F2 લચ્િે 90 ભીભી અંિય અને મખુ્મ ધયી 120 ભીભી 

ધયાલિા ઇરીપ્સ દોયો. અડધા ઇરીપ્સ આકક ઓપ સકકર ઩દ્ધતિ  અને અન્જમ 
અડધા કોન્જસુંટ્રીક ઩દ્ધતિ દ્વાયા દોયો. 

૦૬ 

 બ (૧) 40 ભીભીની ફાજુ લા઱ો તનમતભિ ઩ેન્જટાગોન ત્રિ લર્ુક઱ લા઱ી ખાસ      
઩દ્ધતિનો ઉ઩મોગ કયીને દોયો.                                               ૦૪ 

(ય) તલતલધ પ્રકાય ની રાઇનો ની માદી કયી િેના ઉ઩મોગો જિાલો.    ૦૪ 

    

  અથવા  

પ્રશ્ન. ૩ અ 450 ° યીલોલ્યળુન ભાટે ભહત્તભ તત્રજ્મા 70 ભીભી અને રઘતુ્તભ તત્રજ્મા 10 
ભી.ભી. લા઱ો  આકીભીડીમન સ્઩ામયર દોયો. 

૦૬ 
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 બ (૧) યતુનલસકર ઩દ્ધતિથી 30 ભીભી ફાજુ લા઱ો તનમતભિ સપ્િકોિ દોયો. 
 (ય) એરાઇંડ અને યતુનડામયેક્ળનર સીસ્ટભ લચ્િેનો િપાલિ જિાલો.      ૦૪ 

૦૪ 

    
પ્રશ્ન. ૪ અ એક 100 ભી.ભી. તત્રજ્મા લા઱ા લ઱ાુંક પરુ ઩ય યોચરિંગ કયિી સામકર ના 40 

ભીભી વ્હીર તત્રજ્મા ના લાલ્લ ના એક આંટા ભાટે એ઩ીસાક્રોઇડ દોયો. લાલ્લ 
ટો઩ ઩ય છે. 

૦૬ 

 બ (૧) આઇસોભેટ્રીક સ્કેર ની યિના કયો 
(૨) સીધી રાઇન ભાું ના હોમ એલા ત્રિ આય, એસ, ટી ફીંદુઓ ભાુંથી ઩સાય  
થર્ ુું લર્ ુક઱ દોયો.                                                             ૦૪ 

૦૪ 

  અથવા  

પ્રશ્ન. ૪ અ ૪૦ ભી.ભી. વ્માસ લા઱ા અધકલર્ ુક઱ ભાટે ઇનલોલ્યટુ દોયો. ૦૬ 

 બ (૧) ફે રાઇનો OA અને OB 90 ° ના ખિેુ છે. ફીંદુ P, OA અને OB થી અનકુ્રભે 
20 અને 40 ભી.ભી. ના અંિયે છે. ફીંદુ P ભાથી ઩સાય થિો રુંફ કોચિમ 
હાઇ઩યફોરા દોયો. 
(૨) પ્રથભ અને ત્રીજા કોચિમ પ્રકે્ષ઩િ લચ્િે નો િપાલિ રખો.              ૦૪ 

૦૪ 

    
પ્રશ્ન. ૫ અ 80 ભીભી રુંફાઇ ની PQ રાઇન એિ઩ી સાથ ે30 ° અને V.P. સાથે 45 ° નો 

ખિુો ફનાલે છે. ફીંદુ P, V.P. ની ઩ાછ઱ 20 ભીભી અને H.P. ની નીિે 10 ભીભી 
છે. યેખા PQ ના પ્રકે્ષ઩િ દોયો. H.P.  અને V.P.  સાથેના એ઩ેયુંટ ખિુાઓ િથા 
પ્રાન અને એરીલેળન ની રુંફાઇ ળોધો. 

૦૬ 

 બ 30 ભીભી ફાજુ લા઱ો એક તનમતભિ હકે્સાગોન H.P.  ઉ઩ય િેના એક ખિૂા ઩ય 
ઉબો છે. િેની સ઩ાટી H.P. સાથે 60 ° અને જે ખિેુ ઉબો છે િેભાુંથી ઩સાય થિો 
તલકિક V.P. સાથે 45 ° ના ખિૂો ફનાલે છે. િેના પ્રક્ષે઩િો દોયો. 

૦૮ 

  અથવા  

પ્રશ્ન. ૫ અ એક 90 ભી.ભી. રાુંફી રાઇન નો સાભેનો દેખાલ 65 ભી.ભી. છે, જે XY સાથે 45° 

ના ખિૂો ફનાલે છે. ફીંદુ C, V.P. ભાું છે અંને H.P. થી 20  ભી.ભી. નીિે છે. 
ફીંદુ D  ત્રીજા િયિ ભાું છે. રાઇન CD ના પ્રકે્ષ઩િો દોયી િેની સાિી રુંફાઇ 
અને H.P. અને V.P. સાથેના સાિા ખિુા ળોધો. 

૦૬ 

 બ એક 60 ભી.ભી. લા઱ી ગો઱ાકાય સ઩ાટી ફીંદુ A ઉ઩ય H.P. ભાું ઉબા યહીને િેનો 
તલકિક AB, H.P.  સાથે 60° ના ખિેુ છે, અને ફીજો તલકિક  CD જે AB ને રુંફ 
છે, જે V.P. સાથે 45° નો ખિુો ફનાલે છે. િે ગો઱ાકાય સ઩ાટીના પ્રકે્ષ઩િો 
દોયો. 

૦૮ 
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